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1. Which of these represent a kinear function?

Salect all that apply

A (3,6),(0,2), (3, 5)
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7 D. For each square whose sides have length s, the perimetear is 4s.
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2. The graph shows the retationship between the weight. in pounds, of Vidalia onions and ther cost
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Cost

Q 123453 m 7 8 9106
Weight {pounds)

Which best estimates the cost per pound?

A 5078
2B $1.2¢
TG, 8258

D $1032
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3. What are the solutions to the equation (2z + 1) — (z + 13) = 322 — 2z + 29

Enter your answers in the spaces provided. Enter only your answers.
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4. Graph lines m and f on the xy-coordinate plane shown Then plot the point of iltersection P
2
» Linem: y= i.w.ala
sLinet:y=2a2+46
To graph a line, seleci two points on the coordinate plane A line will be drawn through the poinis

Select the place on the coordinate plane to plot the pomnt
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5. Multiply the polynomials (x + 3)(2z - 4). What s the product in the form az? + bz + c?

Enter your answers in the boxes

M40291

6. A set production designer creates a right circular cyhndrical pilar. The designer knows the amount of
material used for the surface of the pillar and needs to find the height for a reinforcement rod

Use A = Amﬁ,; + ﬂamu where r represents the radwus, h represents the height of the pillar, and 4
reprasents the surface area of the pillar What is a formula for i in terms of the other variables that can be

used to find the height?
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7. Select the values and signs from the drop-down menus that correctly complete the solution by factering.

22 -4z 4+3=0
AH Chaose. {~{j Choose.. <_:u. Choose.. iv{| Choose. |~ v
+ 1 + 1
- 2 - 2
3 3
4 4

r =| Choose, T ;¢ =| Choose ;
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8. Which s the graph of the function y = {z - 1)% - 27
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9. Carrie wants to find cut how the area of a circie will change as the radius increases in length. Carrie

makes a fable.

Area (square feet)

19.63

38.47

63.59

94.99

132.67

Radius (feet)

2.5

3.5

4.5

5.5

6.5

What is the average raie of change in the area as the radius changes from 2.5 {0 5.5 fest?

Enter your answer in the bhox.

ﬂ square feet per foot
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10. On the coordinate plane provided, graph the line with equation 5y — 3z = —15 by selecting the x- and
y- intercepts A correct response must have the ponts placed at the niercepts

Select the places on the coordinate plane 1o plot the pomnis
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